Academic Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students			
24010100 - Liberal Arts and Sciences/Liberal Studies														
Non-returner	1	50.0%	1	50.0%	0	0.0%	2	100.0%	0	0.0%	2			
Total	1	50.0%	1	50.0%	0	0.0%	2	100.0%	0	0.0%	2			
26010100 - Biology/Biological Sciences, General														
Non-returner	1	25.0%	1	25.0%	1	25.0%	3	75.0%	1	25.0%	4			
Total	1	25.0%	1	25.0%	1	25.0%	3	75.0%	1	25.0%	4			
27010100 - Mathematics, General														
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			
99999999 - Undeclared Ma	jor													
Undeclared	6	9.2%	28	43.1%	10	15.4%	44	67.7%	21	32.3%	65			
Total	6	9.2%	28	43.1%	10	15.4%	44	67.7%	21	32.3%	65			

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students			
04090100 - Architectural Technology/Technician														
Non-returner	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1			
Total	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1			
11010100 - Computer and	Information	Science	s, Genera	I										
Graduate	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			
11020100 - Computer Prog	gramming/P	rogramn	ner, Gener	al										
Graduate	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1			
Non-returner	0	0.0%	5	55.6%	0	0.0%	5	55.6%	4	44.4%	9			
Total	0	0.0%	5	50.0%	0	0.0%	5	50.0%	5	50.0%	10			
11080200 - Data Modeling	/Warehousir	ng and D	atabase A	dministra	tion									
Non-returner	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%	2			
Total	0	0.0%	0	0.0%	0	0.0%	0	0.0%	2	100.0%	2			
11090100 - Computer Syst	tems Netwo	rking and	d Telecom	municatio	ons									
Non-returner	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1			
Total	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1			
11100200 - System, Netwo	orking, and L	_AN/WA	N Manager	ment/Mana	ager									
Graduate	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1			
Non-returner	1	6.2%	9	56.2%	1	6.2%	11	68.8%	5	31.2%	16			
Total	1	5.9%	9	52.9%	1	5.9%	11	64.7%	6	35.3%	17			
11100300 - Computer and	Information	System	s Security	/Informati	on Assura	nce								
Graduate	0	0.0%	5	83.3%	0	0.0%	5	83.3%	1	16.7%	6			
Non-returner	6	15.4%	16	41.0%	5	12.8%	27	69.2%	12	30.8%	39			
Total	6	13.3%	21	46.7%	5	11.1%	32	71.1%	13	28.9%	45			
12050300 - Culinary Arts/0	Chef Training	·												
Non-returner	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1			
Total	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1			
15030300 - Electrical, Elec	tronic and C		ications E	ngineerin	g Technol	ogy/Tech	nician							
Non-returner	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1			
Total	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1			
15040100 - Biomedical Ted	chnology/Te	chniciar	1											
Graduate	1	33.3%	1	33.3%	0	0.0%	2	66.7%	1	33.3%	3			
Non-returner	0	0.0%	1	50.0%	0	0.0%	1	50.0%	1	50.0%	2			
Total	1	20.0%	2	40.0%	0	0.0%	3	60.0%	2	40.0%	5			

Technical Students	Addition High Educa and N Emplo	ier tion Not	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students			
15040300 - Electromechanical Technology/Electromechanical Engineering Technology														
Non-returner	2	25.0%	4	50.0%	1	12.5%	7	87.5%	1	12.5%	8			
Total	2	25.0%	4	50.0%	1	12.5%	7	87.5%	1	12.5%	8			
15040400 - Instrumentation	n Technolo	gy/Techr	nician											
Non-returner	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1			
Total	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1			
15050100 - Heating, Ventil	ation , Air C	Condition	ing and R	efrigeratio	n Techno	logy/Tech	nician							
Non-returner	0	0.0%	2	66.7%	1	33.3%	3	100.0%	0	0.0%	3			
Total	0	0.0%	2	66.7%	1	33.3%	3	100.0%	0	0.0%	3			
15061300 - Manufacturing	Engineerin	g Techno	ology/Tecl	hnician										
Graduate	0	0.0%	11	84.6%	1	7.7%	12	92.3%	1	7.7%	13			
Non-returner	0	0.0%	9	45.0%	9	45.0%	18	90.0%	2	10.0%	20			
Total	0	0.0%	20	60.6%	10	30.3%	30	90.9%	3	9.1%	33			
15100100 - Construction E	ingineering	Technol	ogy/Techi	nician										
Non-returner	0	0.0%	0	0.0%	1	50.0%	1	50.0%	1	50.0%	2			
Total	0	0.0%	0	0.0%	1	50.0%	1	50.0%	1	50.0%	2			
15130200 - CAD/CADD Dra	afting and/o	r Design	Technolo	gy/Techni	cian									
Graduate	1	12.5%	6	75.0%	0	0.0%	7	87.5%	1	12.5%	8			
Non-returner	1	9.1%	3	27.3%	1	9.1%	5	45.5%	6	54.5%	11			
Total	2	10.5%	9	47.4%	1	5.3%	12	63.2%	7	36.8%	19			
41020500 - Nuclear/Nuclea	r Power Te	chnology	//Technici	ian										
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			
41030300 - Chemical Proc	ess Techno	ology												
Graduate	0	0.0%	16	94.1%	0	0.0%	16	94.1%	1	5.9%	17			
Non-returner	1	6.7%	7	46.7%	2	13.3%	10	66.7%	5	33.3%	15			
Total	1	3.1%	23	71.9%	2	6.2%	26	81.2%	6	18.8%	32			
46030100 - Electrical and F	Power Tran	smission	Installati	on/Installe	r, Genera	I								
Graduate	0	0.0%	6	66.7%	1	11.1%	7	77.8%	2	22.2%	9			
Non-returner	0	0.0%	6	54.5%	3	27.3%	9	81.8%	2	18.2%	11			
Total	0	0.0%	12	60.0%	4	20.0%	16	80.0%	4	20.0%	20			
46030200 - Electrician														
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
46030300 - Lineworker											
Graduate	0	0.0%	19	70.4%	0	0.0%	19	70.4%	8	29.6%	27
Non-returner	0	0.0%	20	62.5%	1	3.1%	21	65.6%	11	34.4%	32
Total	0	0.0%	39	66.1%	1	1.7%	40	67.8%	19	32.2%	59
47060400 - Automobile/Au	itomotive I	Mechanics	s Technolo	gy/Techn	ician						
Non-returner	1	25.0%	2	50.0%	1	25.0%	4	100.0%	0	0.0%	4
Total	1	25.0%	2	50.0%	1	25.0%	4	100.0%	0	0.0%	4
47060500 - Diesel Mechan	ics Techno	ology/Tecl	hnician								
Graduate	1	6.2%	9	56.2%	1	6.2%	11	68.8%	5	31.2%	16
Non-returner	3	9.7%	19	61.3%	1	3.2%	23	74.2%	8	25.8%	31
Total	4	8.5%	28	59.6%	2	4.3%	34	72.3%	13	27.7%	47
47060800 - Aircraft Power	plant Tech	nology/Te	chnician								
Non-returner	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1
Total	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1
48050100 - Machine Tool	Technolog ₃	_									
Graduate	1	16.7%	5	83.3%	0	0.0%	6	100.0%	0	0.0%	6
Non-returner	1	16.7%	2	33.3%	0	0.0%	3	50.0%	3	50.0%	6
Total	2	16.7%	7	58.3%	0	0.0%	9	75.0%	3	25.0%	12
48050800 - Welding Techn	ology/Wel	der									
Graduate	2	5.4%	23	62.2%	3	8.1%	28	75.7%	9	24.3%	37
Non-returner	1	6.2%	14	87.5%	1	6.2%	16	100.0%	0	0.0%	16
Total	3	5.7%	37	69.8%	4	7.5%	44	83.0%	9	17.0%	53
48051000 - Computer Num	nerically C	ontrolled ((CNC) Mad	hinist Tec	chnology/C	NC Mach	ninist				
Graduate	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
49010200 - Airline/Comme	rcial/Profe	ssional P	ilot and Fl	ight Crew							
Non-returner	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1
Total	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1
50040100 - Design and Vis	sual Comm		s, Genera								
Non-returner	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1
Total	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1
50040900 - Graphic Design	n										
Non-returner	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1
Total	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
51090400 - Emergency Me	dical Tech	nology/Ted	chnician (EMT Paraı	medic)						
Non-returner	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
51380100 - Registered Nur	rsing/Regi	stered Nurs	se								
Non-returner	0	0.0%	0	0.0%	1	50.0%	1	50.0%	1	50.0%	2
Total	0	0.0%	0	0.0%	1	50.0%	1	50.0%	1	50.0%	2
52020300 - Logistics, Mate	erials, and	Supply Cha	ain Manag	gement							
Non-returner	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
52020400 - Office Manager	ment and \$	Supervision	1								
Graduate	1	14.3%	3	42.9%	3	42.9%	7	100.0%	0	0.0%	7
Non-returner	6	9.7%	26	41.9%	22	35.5%	54	87.1%	8	12.9%	62
Total	7	10.1%	29	42.0%	25	36.2%	61	88.4%	8	11.6%	69
52040700 - Business/Offic	e Automat	ion/Techno	ology/Data	a Entry							
Graduate	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1
Non-returner	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1
Total	1	50.0%	0	0.0%	0	0.0%	1	50.0%	1	50.0%	2

Summary Page	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
Total Academic Students											
Non-returner	2	28.6%	3	42.9%	1	14.3%	6	85.7%	1	14.3%	7
Undeclared	6	9.2%	28	43.1%	10	15.4%	44	67.7%	21	32.3%	65
Total	8	11.1%	31	43.1%	11	15.3%	50	69.4%	22	30.6%	72
Total Technical Students Graduate	8	5.2%	106	68.8%	9	5.8%	123	79.9%	31	20.1%	154
Non-returner	27	8.9%	147	48.2%	55	18.0%	229	75.1%	76	24.9%	305
Total	35	7.6%	253	55.1%	64	13.9%	352	76.7%	107	23.3%	459
Total Technical/Tech-Prep	Students										
Graduate	8	5.2%	106	68.8%	9	5.8%	123	79.9%	31	20.1%	154
Non-returner	27	8.9%	147	48.2%	55	18.0%	229	75.1%	76	24.9%	305
Total	35	7.6%	253	55.1%	64	13.9%	352	76.7%	107	23.3%	459
Grand Total											
Graduate	8	5.2%	106	68.8%	9	5.8%	123	79.9%	31	20.1%	154
Non-returner	29	9.3%	150	48.1%	56	17.9%	235	75.3%	77	24.7%	312
Undeclared	6	9.2%	28	43.1%	10	15.4%	44	67.7%	21	32.3%	65
Total	43	8.1%	284	53.5%	75	14.1%	402	75.7%	129	24.3%	531